SATRIE 7K ST AL

OMAERER P2 9FE8H1H

1) KiE: ET20. 5~22. 9C, KBT16. 5~19. 7CoOHmMIIH-T,
2) iy FET26. 6~33. 3, EKET33. 2~33. 8O#HIIH-T,
3) pH: 7. 9~8. 4DHiMHIZH Y, RS TKEHKIERE (7. 8~8. 4) iz LTz,
4) COD: 0. 2~5. cmg/Lo#PMHIZHY, St. 1 (KiH) KEEFREKEMRKEE (BASM
P 2mg/L BLF) %7z LT,
5) DO: 6. 2~12. 3mg/LOHEIFAICHY, 2R TKEMKELE (6. Omg/LLLE) ZH-L
TuW=,
6) MEEESERERIE - KB IILL T O®BENICH - T,
U omgRe ) o (PO4P)
T UE=TREESR (NHN) :
e fEZE# (NO2-N) : 1K~ 5. 8ug/L
fEERe =R (NOs-N) - . 1R~169. 7ug/L
7) T PR 3. 4~99. 2ml/m3DEHICH T,

1~45. 7uglL
1K~ 6 2. 2upg/L
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